B WM& E &

S 6FE12A258IC2 LA REFBEFHNANRERINERBRELSE ICHITS
ZHOZEBICAVWAEMXIILEE (RHUBMAS—XDIEEBICDVWTIIEMTII/A<£EE) D
WT. BIROBHEROLEUBRET S,

LlE. BESEDRE L THFEZAFRL. SBEFBFEROL. FRATALKREFT S,

REE (R
K%

RIE M
K%

M TH

HRRFETPREEEO2TE1&65S
MEXHREBETAESE
A RER HREESEBRR K& 1=

MRERBTHEITHOEM 4
HASHt ETER
RKRIER =T =%

1R 7H




N 2

it

£

THEX Sy« TH - FERI - HH50 MoK PO B B G AT & # i E (A5
T b A B (B2 HLA)
= 1 6,561, 137
CCTVRRAR
= 1 6,561, 137
COTVE: &
= 1 4, 489, 294
HDSH 1 Ph A THE MEEEE & T AN— VEfT
=) 1 1, 759, 623 1,759, 623
5y T AR (BRI L)
=) 1 604, 588 604, 588
L2—SW A 7D
=) 1 139, 867 139, 867
LO00BASE-XA"47x-% (SFP) Ty M-ty b PR ST A
# 2 992, 608 1,985,216
TR
= 1 2,071, 843
18 5 B S Bh e B2 1 FEHE (85dB) Y 24H 1kVA
=) 1 1, 894, 979 1, 894, 979
HE il 77 2R E $n 2 B . R A MSE
FH50-12 12V
L 1 176, 864 176, 864
Phas HL R E
= 1 6,561, 137
b A R
= 1 14, 910, 048
CCTVERfi L.
= 1 1, 233, 666
COTVEE & 25 T
= 1 78, 162

E s Abkei )7 &6 R




N 2

it

£

THEX Sy« TH - FERI - HH50 B PO B B G AT G| T (G E LM
ST A A Z M@
1 54, 800 54, 800
L 2 —SWii
=) 1 23, 362 23, 362
SCRERRE T
= 1 120, 195
SCRERRE 8m K 19cm 5. 0kN 8mPA F
T 1 120, 195 120, 195
SLAFERRE T
= 1 154, 215
SLAERRE 10-19-3.5 & & 10m
VN 1 154, 215 154, 215
Sy B R E T
= 1 19, 202
BNy AR
ifi 1 19, 202 19, 202
FEE R AR E L
= 1 73, 299
18 5 B3¢ AL AR A
=) 1 73,299 73,299
i FE A T
= 1 47,730
T T AR
= 1 39, 080
E¥E+T (BEX)
= 1 8, 650
Heh-77 iR T
= 1 226, 954
-2 - SRRl N s




N 2

it

£

THEX Sy« TH - FERI - HH50 MoK PO B B G AT G| T (G E LM
b R LR SMS8C /U AZY w7
m 77 732.9 56, 433
b R LR SMS8C /U AZY w7
m 77 732.9 56, 433
SRS LR SMS8C /U AZY w7
m 5 941 4,705
Y77 Wz SM8C
&0 1 43, 295 43, 295
Her=7" VR SM8C
&0 1 27,919 27,919
Heh=77 ek SMS8C
{RER IR
1] 1 15, 953 15, 953
Heh=77 ek SMS8C
Pefoi R IR
1] 1 22,216 22,216
TBE AL L
= 1 5, 165
TWEE N ECHR Cat5e—4P
m 9 573.9 5,165
Bl & - B AR L
= 1 508, 744
T o i FEP30 & 30mm
m 118 349.2 41, 205
T o i FEP40 & 40mm
m 8 371.7 2,973
B P LR CVr=7" W (BOOVERAZR V=77 W) 2.0
600V 8. 0mm2 X 2C
m 118 1,602 189, 036
b o i TVH=7" b (600VE” =Viaf EE 1) 5.5
m2
m 4 378 1,512
-3- SRRl N s




N 2

it

£

THEX Sy« TH - FERI - HH50 MoK PO B B G AT & # i E (A5
JB AN G % 54mm
m 7 7,214 50, 498
BEAEE AR L S BERE K fdmm
m 0. 4,326 2,163
JB AN G % 42mm
m 1 6,770 6,770
BEAOVEE G £ 28mm
m 9 4, 600 41, 400
BEAOVEE AR L S BERE £ 30mm
m 2 2,342 4, 684
JEHMEOAR VVRI=7" b (600VE" =Viafgr—7" 1) 2
£ SV 8. 0mm2-2C
m 12 1,603 19, 236
EAECHR CVr=7" W (BOOVERAZR V=77 W) 2.0
600V 8. 0mm2 X 2C
m 10 1,602 16, 020
EAECHR CVr=7" I (BOOVERAZR V=77 W) 3.l
600V 2. 0mm2 X 3C
m 9 1,424 12,816
SRR TVH=7" b (600VE” =Viaf EE 1) 5.5
m2
m 7 378 2, 646
MRy~ NGRR W=300, 2fi%
m 92 415. 4 38,216
E¥+ T (BR)
= 1 79, 569
EEy ISTil e
= 1 12, 149, 752
o —7 A HER T
= 1 12, 149, 752
B P LR SM100C A%V vz
m 3, 800 1,271 4, 829, 800
-4 - ELARims  Abkizhh )y 80w &




YN/

it

£

THEX Sy« TH - FERI - HH50 MoK PO B B G AT G| T (G E LM
b R LR DSF20C+SM4C A%V
v 7
m 3, 800 1, 141 4, 335, 800
LR 7L SM100C
| 17 48, 944 832, 048
LR 7L DSF20C+SM4C
PR 17 37, 403 635, 851
W=7 Wi SM100C
&0 3 68, 363 205, 089
Y77 Wz SM100C
&0 1 82, 603 82, 603
Ner=7" v DSF20C+SM4C
&0 3 49, 567 148, 701
Ner=7" v DSF20C+SM4C
&0 1 63, 806 63, 806
B B IR
= 1 441, 800
Ser-77 vkl SM100C
{RER IR
*Fm) 3 50, 135 150, 405
Ser-77 vkl DSF20C+SM4cC
{RER IR
*tm) 3 24, 499 73,497
Ser-77 vkl SM100C
PR IR
*tm) 3 79, 751 239, 253
Ser-77 vkl DSF20C+SM4cC
E073 Tk BN
*tm) 3 37,033 111, 099
YAThAVT) V=yay
= 1 1,432, 333
YAThAVT) V=yay
= 1 1,432, 333
-5 - ELARims  Abkizhh )y 80w &




HOOflf =%

THEX Sy« TH - FERI - HH50 B PO B B G AT & G| T (G E LM
YATh V7)) V=vay
= 1 1,432, 333
T S gk 1
= 1 94, 297
ik T
= 1 94, 297
ik (AR
= 1 94, 297
B T HE
= 1 14, 910, 048
B ST e ¢
= 1 1,199, 863
BTl E:
= 1 57, 462
Htre m
= 1 57, 462
8 it 3% FEAR T — Z AR
= 1 53, 059
BROBE MG EE T — 2 F
D% -4
= 1 4, 403
HimE R (FE L)
= 1 1,142, 401
Wi
= 1 16,109, 911
BTk X=giiv oy
= 1 7, 158, 509
G E
= 1 3, 687, 087

-6 - E s Abkei )7 &6 R




HOOflf =%

THEX Sy« TH - FERI - HH50 B PO B B G AT & G| T (G E LM
Hl R
= 1 2,492, 348
Pear s R
= 1 1,194, 739
R 5]
= 1 26, 955, 507
— R
= 1 5, 303, 356
Tk
= 1 38, 820, 000
THE B 2 %8
= 1 3, 882, 000
TG
= 1 42, 702, 000

-7~ E s Abkei )7 &6 R




